[image: image1.png][> fc\'\tl -{’/«& _{Wiw QLOU'% ﬁg /e.,[-,‘emd c‘('f’é/‘s <~ l)dr\,

Fi= So Fz =30AN F, is est Sny.
107 50°

Foe 220N

ET=-RFa* ry Rs™ g (272 126w, o]
= -5m(zow) + Tm (300) 3™ 80°

) Fond the em. of Rkgat (3,2, 4 kg ot (-1, 3),
gnd 5kqot (2,5).

. S¢9 Xen, =M, K, #1M1: X 1 fi:\'}
kg .3k M, +heqy + 113
SN R = Bk ()7 dheg (1) + Shs (2)
I 9k9+4k745kﬁ
Yew, = (76 m

[Py (760,312 yewr= #9012 T £ 5 D

/‘71*”/7. *MZ

= Dkg(2u)? 4rg () + Sk (5)
Skg+4kg 1 THG

enp = Dillm

3) Find e ulﬂwwc/ Lorce exer fed é7 -6464/3
o | Sooe L brecgl jOm /omg Hat has a 20004 car
ok 2 m cnd ot 7000A/-fv~ucka,-€ 7,

1 B A RN A R
\

Fz - Ve Ee+lvFp +V+Er

Fe F F
Fo T e ‘wa’u}* e s000w) + T (109 (10000)
4F=0 0™

E’Fc"ﬁ'ﬁ'*ﬁ‘:o QEjﬁgooN,

FL;FC*ﬁ'*ET'E’Z .
-420000 +[S000N So00 M ~ /2 3OON L)E:= { Zoo/UJ





